I will make the following assumptions which relate to my question:
1) As the economy grows and productivity increases, real wages tend to rise, on aggregate (assuming there is not excessive slack in the labour market, i.e jobless growth scenario recently seen in U.S.)

2) Real wage growth , over time, by definition factors in inflation. Inflation is measured by the average prices of a bundle of  (representative) goods. So I am assuming very luxury/elitist products/services will be excluded from the bundle. 

My questions are :

As real wages rise over time (people become richer on aggregate) will there not come a point (some time in the future) when people switch over from buying low priced goods/services to more expensive goods? Would this not imply that companies such as ASDA/Wallmart or Easyjet would go out of business?  If this is the case, then wouldn’t the failure of these types of companies have a negative impact on the economy – unemployment and so on?

I understand that the goods excluded from the bundle may be rising at a faster rate than inflation – to maintain their higher mark-ups (relative to other goods) – so still only the ‘rich’ will be able to afford these goods. But I can’t seem to work out the above question- because let’s assume good X is in the bundle, if someone’s real wage is rising relative to good X then he can choose to  purchase more of good X or he can purchase a good that previously he could not. At this point I seem to revert back to the above scenario/question.

I am sure that I am missing something here. Hope you (or someone you know) can help clear this up for me.

